GRADE 9 ASSIGNMENTS -PHYSICS

Q1.
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When the length of cotton is wound closely around a pen, it goes round six times

six turns of cotton
pen : f 3

What is the distance once round the pen?

A 22cm B 26cm C 132cm D 15.6cm




Q2 Write the following in full form:

1. 106
2. 2 x 104
3. 6.1 x 105
4. 1.23 x 109

5.  5.  107

Q3. Write the following as the power of 10, with one figure before the decimal place.

1. 900,000

2. 90,000

3. 9000

Q4. How many millimeters are there in 

1. 9cm

2. 0.5cm

3. 4m

4. 550cm

5. 550m

Q6.Write the fractions as the power of 10.

1. 1/100000

2. 9/1000

3. 4/80000

4. ½

5. 1/25

Q7. Find the volume of   this rectangular bar 


Length = 8.5cm

Width = 2 cm

Height = 5 cm

Also rewrite the volume in m3 and mm3          
Q8. How can you find the density of an irregular shaped object.?

Q9.

 a) Calculate the volume of a solid cylinder made of Aluminum whose height is 90cm and diameter is 15cm


a) If the density of Aluminum is 2.7 g/cm3, Find the mass of the cylinder.

Q10. Why is it easy to float in dead sea ?

Q11. Write the expression    1) for the area of circle

                                                 2) for the volume of cylinder

                                                 3) volume of sphere

Q12. )If 300cm3 of water(density 1.0g/cm3) is mixed with 200cm3  of methylated spirit(density 0.80g/cm3), then what is the density of the mixture?           
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Q13 

a)A cardboard box measures 100cm x 60cm x 60cm. Find out the volume of this cardboard box.

b)Also find out how many pencil boxes of dimensions 20cm x 5cm x 2 cm  can be packed in this card board box.


Q14. An irregular piece of glass of mass 110g is dipped in a measuring cylinder filled with water. The reading of the cylinder with the glass in it is 220ml(final volume).The density of glass is 2.5 g/ cm3. Find the initial volume of the liquid in the measuring cylinder.

